Supporting Text S3

%ILR( t) = —kq-il1(t)- ILR(t) 4+ (1 —uv(t) -uvinh) - (1 — chx(t)) - kyr — ILR(t) - ki

%ILRC( t) = kq - il1(t) - ILR(t) — k; - ILRc(t)

d TKKp(t)
—IKK(t)=—k, - ILRc(t) - IKK(t) + kg, - PP2A() - —

dt
Epconst - IKK (t) — aps - IkBa(t) - IKK(t) —aps - IKK (t) - NFxB|IkBo(t)+
apss - IkBa|IKK(t) + apss - NFrB|IcBa|I KK (t)+
p1 - prot(t) - IkBa|I K K(t)

IKKp(t)
K, + IKKp(t)
kpconst - IKK (t) —ap1 - IKKp(t) - IkBa(t) + api1 - IkBa|I K Kp(t)—
apy - IKKp(t) - NFEB|IkBa(t) + apee - NFkB|IkBa|l KKp(t)+
ag - IkBalIKKp(t) - (1 —mg(t)) + as - NFkB|IkBa|IKKp(t) - (1 —mg(t))

%IKKp( t) = ky - ILRc(t) - IKK(t) — kqy - PP2A(t) -

d
al,%Ba( )= —aps - IKK(t) - IkBa(t) —apy - IKKp(t) - IkBa(t)+

ap11 - IkBa|IKKp(t) + aps3 - IkBa|I KK (t)+

(1 —chz(t)) - (1 —uv(t) - uvinh) - c4q - IKBoy(t)—
Csq - (1 —mg(t)) - IkBa(t) —i1q - IkBa(t)+
e1q - IkBay(t) — ay - prot(t) - IkBa(t)

d
%IF@Ban( ) = —a1 - [kBay(t) - NFkBy(t) + i1q - ky - IRBa(t) — €14 - ky - IKBag (t)

%I/@Bat(t) =c1q - NFrB,(t)- (1 — ActD(t)) — ¢34 - IkBay(t)

d
T NFrB(t) = ky - a3 - NFrB|IsBal IKKp(t) - (1 — myg(t)) -

a1 - IkBoy,(t) - NFEBp(t) + ky - c6a - NFEB|IkBa(t) - (1 —mg(t))



d
aNFﬁB]IﬁBa(t) = —apy- IKKp(t)-NFrB|IcBa(t)4+ape-NFrB|IkBa|I K Kp(t)—

apy - IKK(t) - NFrB|IkBa(t) + apys - NFrB|IkBa|I KK (t)+

(a1 - IkBay(t) - NFKB(t)) - k:i — ¢ - NFEB|IkBa(t) - (1 — mg(t))

v

d

T PP2A(t) = —kuy - uv(t) - PP2A(t) — ke - PP2A(t) - SRCp(t) + kypap - PP2AP(1)
d

7 PP2AP(t) = Kape - PP2A(t) - SRCp(t) — kypay - PP2AP(1)

d

£5’RC’p(t) = kopa - (1 = SRCp()) - ova(t)

%prot(t} = ova(t) - kprot - (1 — prot(t))

d
af,%Ba]IKK(t) =aps-IkBa(t) - IKK(t)—

apss - IKBa|[IKK () — ky, - ILRe(t) - InBalIKK (t)+
IkBa|IKKp(t)
Ky, + IkBa|IKKp(t)

kap - PP2A(t) - —p1 -prot(t) - IkBa|IKK(t)—

kpconst - [k Ba| KK (1)

d
—IkBa|IKKp(t) = apy - IkBa(t) - IKKp(t)—

dt
api1 - IkBa|IKKp(t) + ky - ILRc(t) - IkBa|I KK (t)—
as - IkBa|IKKp(t) - (1 —mg(t))—
IxBa|IKKp(t)
K, + IkBa|IK Kp(t)

kap - PP2A(t) - + kpeonst - 1eBa|IK K (t)

d
—NFkB|IkBa|IKK(t) = aps - IKK(t) - NFrB|IkBa(t)—

dt
apas - NFEB|IkBa|IKK(t) — ky - ILRc(t) - NFeB|IkBa|IKK(t)+
NFkB|IkBa|l KKp(t)
kg, - PP2A(t) - —
9 QN - NFrB|IkBalIKKp(t)

kpeonst - NFrB|IkBa|IKK(t)




d
%NFKB]IﬁBaHKKp(t) =ape - IKKp(t) - NFkB|IkBa(t)—

apas - NFkB|IkBa|lIKKp(t) — a3 - NFxB|IcBa|IKKp(t) - (1 —mg(t))+
ky - ILRc(t) - NFrB|IrBalI KK (t)—
NFkB|IkBa|IKKp(t)
K, + NFeB|IkBa|IKKp
kpeonst - N FrB|IxBalIKK ()

kqp - PP2A -



